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The reflection of F(x) across either the vertical axis or the horizontal axis is still a quadratic function, as the parabolic shape is preserved. Note, however, that the horizontal reflection gives a parabola that opens downward instead of upward.


Any parabola with its vertex on the vertical axis (for example, F(x)=x2) is its own reflection across the vertical axis, because it is symmetric with respect to this axis.


On the other hand, there is no quadratic F(x) whose horizontal reflection is itself. (Suppose there were; then F(x) would have to be both upward-opening and downward-opening, which is impossible.) In other words, a parabola cannot be symmetric across the horizontal axis.
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